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Filename              = 5980-20230401_Proton-
Author                = delta
Experiment            = proton_auto.jxp
Sample_Id             = 5980-20230401
Solvent               = DMSO-D6
Actual_Start_Time     = 17-APR-2023 12:05:34
Revision_Time         = 18-APR-2023 09:07:33

Comment               = single_pulse
Data_Format           = 1D COMPLEX
Dim_Size              = 13107
X_Domain              = Proton
Dim_Title             = Proton
Dim_Units             = [ppm]
Dimensions            = X
Spectrometer          = JNM-ECZ400S/L1

Field_Strength        = 9.389766[T] (400[MHz]
X_Acq_Duration        = 2.18628096[s]
X_Domain              = Proton
X_Freq                = 399.78219838[MHz]
X_O�set              = 5[ppm]
X_Points              = 16384
X_Prescans            = 1
X_Resolution          = 0.45739775[Hz]
X_Sweep               = 7.4940048[kHz]
X_Sweep_Clipped       = 5.99520384[kHz]
Irr_Domain            = Proton
Irr_Freq              = 399.78219838[MHz]
Irr_O�set            = 5[ppm]
Tri_Domain            = Proton
Tri_Freq              = 399.78219838[MHz]
Tri_O�set            = 5[ppm]
Blanking              = 2.0[us]
Clipped               = FALSE
Scans                 = 8
Total_Scans           = 8

Relaxation_Delay      = 5[s]
Recvr_Gain            = 46
Temp_Get              = 22.6[dC]
X_90_Width            = 6.25[us]
X_Acq_Time            = 2.18628096[s]
X_Angle               = 45[deg]
X_Atn                 = 4.5[dB]
X_Pulse               = 3.125[us]
Irr_Mode              = O�
Tri_Mode              = O�

---- PROCESSING PARAMETERS ----
sexp( 0.2[Hz], 0.0[s] )
trapezoid( 0[%], 0[%], 80[%], 100[%] )
zero�ll( 1, TRUE )
�t( 1, TRUE, TRUE )
machinephase
ppm


